TER 2 0.01 0.1 1 10
_2 l 1 IIIIIIII 1 IIIIIIII 1 IIIIIIII 1 II_
Dy, =7500 pc “““"b-_\"‘ i
—4 L] —
Mass from total luminosity 2 i | i
S -6 B
M,= 3.32 -10* M, i ]
-8 —
M/L=1.90 ~ 0.2 [ RS
S n :
R,=2.89 pc, R,=0.08 pc g 0p---- E
W -02F E
MF' Slope=0.23 o - .
2 _O~4 TIIIIIII 111 IIIII 1 IIIIIIII 1 IIIIIII-|_
1 10 100 10°

_ _ Radius [arcsec]
Q 5 | I IIIIIII I I IIIIIII I LU Q 5 1 I IIIIIII I I IIIIIII I LI
a E 1 @, E E
N 4 F = N 4 =
E_E 1 E _E E
=~ 3 - =53 —
d 2 4 az2f =
2 = - A = 3
T 1B 4 T1E =
L 0 L O E
= 0.5 -4 =z 05F =
>[- C ] >[_ - 3
l, OF-—-——-——— - 0, OF---—-—-— -2
s _F 1.8 : ]
=-0.5 F 4> -05F E
_1 - 1 1 IIIIIII 1 1 IIIIIII 1 1 IIIIII- _1 - 1 1 IIIIIII 1 1 IIIIIII 1 1 IIIIII_-
10 100 103 10 100 103

Radius [arcsec]

Radius [pc]

Radius [arcsec]



